RE6hOZEMBSRE (F8E) DAEHRICONT

BIEEX (U Sv/h)

BIEEX ( Sv/h)

B = e = FEoEBIEHEE RIE B F7EBIEHEE AIE B
% B MR 4 5 Xz i (&
1.0m 0.5m HhEm DRI 1.0m 0.5m HhmE DRk
BRI
N (e BT < B E 0.23 027 = 9R Y H 0.23 026 = |97 5 H
PEEL/INFAR 013 015 + 9827H 0.15 015 + 98 12H
G ahiosE) . : & . . &
Hrik S H VAR
sram| Gl 0.23 026| =z | *EF 0.24 027 = | °72F
ik NN B 9H827H 98128
e 0.24 025| = % 0.23 024| = .
T P 2
o (Gl 5 T P 0.27 030 = 9’5152%75 0.31 033| = 9’515‘%25
H
TN 9827H 98 13H
R ) 0.07 008 + " 0.07 009| + X
VN R = 98278 98138
R ) 0.07 008 =+ & 0.08 007| = "
= T BR A 2 — /N ] 98278 98138
¥yHE™T (BF R T4 T H) 0.06 0.07 + i 0.07 0.08 + -
5 HH Sy M 9827H 98 13H
) 0.09 010 =+ 2 0.11 o1o| = .
wEHRE AT
(BF F T ACBFIS) 0.18 018 =+ 952%75' 0.18 o19] =+ |9F ‘;E'




AIEEX (U Sv/h)

AIEEX (u Sv/h)

e EQEBIFEER AlZEH w7 EREER AEH
L AE R A S i
1.0m 0.5m HhEm DRI 1.0m 0.5m #hE D ALK
21tfL DFR & IR
(P T Bk > — 022| o020 + | 9AE 0271  o026| x |9ALE
B O\ 4 I D— ) 3 i
e 024 o025 x | RZE 023|  o022| =+ |°ALA
N= AT BN 9826H 98 14H
BT ) 0.18 018 £ - 0.17 017 % -
VANES
EPW(%Z\W&% 0.19 022 9’352%6 2 0.19 022 =+ 9’515‘%45
AEE N 9826H 98 14H
(A A 0.23 0.25 + " 0.24 0.24 + "
Fa il 2 528 ] 9H29H 98 14H
A 0.20 0.23 + i 0.23 0.24 + o
HE S LB O BG SR s 9A29H = | 9A14R
(it e ) 0.35 038 == " 0.37 0.40| =.= -
TR AT A 98298 98148
am R T ) 0.24 0.24 + i 0.31 0.32 + o
FIvE O 55— /AR 98298 98148
G D 0.21 0.22 + - 0.20 0.20 + B
VST AR D HEN[F L 9H29H .« | 98148
(0 2) 0.37 043 =-Z - 0.39 0.45| #E.¥ -




AIEEX (U Sv/h)

AIEEX (u Sv/h)

A AE RS B F R % G
A E e
7 G :
1.0m s wmopn| HIEAEHER AR
FEALE om 05m  |HEORK 5
(BKBRFHER) 0.30 031 =.z 9A26H
> LEREE - i I il I
(EBRFHOLE) 0.15 0.17 + 9 26H -
B ?ﬂ%%q:wﬁ (5 0.16 0.17 + 9A 1$4EI
(RBFHEEL) 0.17 0.19 + 98268 *
—— = 0.19 019 =+ 9A 148
. ES
(KBRFHDE) 0.12 013 =+ 9A26H -
P W 0.15 015 =+ 9A14H
: £33
(HFFFHflk) 0.27 031] = 9A 268 -
ey = 0.26 029 =+ 98148
GRILTIERFEH) 0.13 0.14 el QHZEQEI -
TRIARER : S I I .
GRWMIFRIIER) 0.19 0.20 + 9A 2;95 :
AT A - ore) oz & TR
(RiuTn) 0.21 0.20 + 9A 2$9E| -
AN RE " i I I
GRiumm/hE) 0.19 0.21 + 9H29H -
/J;IJ.I/J\%II;? =3 0.19 0.21 + 9R16H
\ E23
(RILH+ARK) 0.19 0.20 + 9H29H "
= 0.20 021| + |9A16H
5]

X1BREH-VDOHIE HEAEET/o/O—~)Lk




